
DESCRIPTION / DESCRIPCIÓ N : FULL BED/LIT DOUBLE/CAMA DOBLE
ITEM NO. / ARTICLE NO. / ARTICULO NO :DS-D393-287

D

F G H I

Page 1 of 3

x1 Headboard Panel
x1 Tête de lit
x1 Panel de cabecera    

x1 Left leg
x1 Patte de gauche
x1 Pata izquierda    

x1 Right Leg
x1 Patte de droite
x1 Pata derecha    

x1 Footboard Panel
x1 Pied de lit
x1 Tablero de pie de cama    

x2 Footboard Leg
x2 Pattes de pied de lit
x2 Patas del pie de cama

x2 Side Rail
x2 Côtés de lit
x2 Largueros laterales 

x2 Side Rail
x2 Côtés de lit
x2 Largueros laterales

x2 Center Leg
x2 Pattes centrales
x2 Patas centrales

x2 Slat
x2 Lattes
x2 Listones  

x2 Center Rail
x2 Pattes de supports
x2 Patas de apoyo de listones

A

PARTS LIST / LISTE DES PIE CES / LISTA DE PIEZAS

B1 B2 C

E

K L M N

x4 Support Leg
x4 Pied
x4 Pierna de soporte

x8 Allen Bolt M8 x 20
x8 Vis à tête creuse hexagonale 
     M8 x 20
x8 Perno Allen M8 x 20

x8 Allen Bolt M6 x 25
x8 Vis à tête creuse hexagonale  
     M6 x 25
x8 Perno Allen M6 x 25

x6 Allen Bolt M6 x 35
x6 Vis à tête creuse hexagonale  
       M6 x 35
x6 Perno Allen M6 x 35

x4 Allen Bolt M6 x 50
x4 Vis à tête creuse hexagonale  
       M6 x 50
x4 Perno Allen M6 x 50

J

Q R S

x14 Flat Washer
x14 Rondelle plate
x14 Arandela plana

x8 Screw M4 x 32
x8 Vis M4 x 32
x8 Tornillo M4 x 32

x1 Allen Wrench M5 x 65
x1 Clé hexagonale M5 x 65
x1 Llave Allen M5 x 65

x1 Allen Wrench M4 x 65
x1 Clé hexagonale M4 x 65
x1 Llave Allen M4 x 65

P

x14 Spring Washer
x14 Rondelle à ressort
x14 Arandela auto-bloqueante

O

* Replaceable Part

*

* * *

* *

*

* * * * *

* * * *

Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



DESCRIPTION / DESCRIPCIÓ N :

Page 2 of 3

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO

FULL BED/LIT DOUBLE/CAMA DOBLE
:DS-D393-287

5

H

Q

7

G

S
L
O
P

4

E

F

1

2

3

6

B2

S
M
O
P

J

I

H

N

S

D

K
R

Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



Page 3 of 3

DESCRIPTION / DESCRIPCIÓ N :
ITEM NO. / ARTICLE NO. / ARTICULO NO

* Replaceable Part

REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

*

FULL BED/LIT DOUBLE/CAMA DOBLE
:DS-D393-287

x1 RDS-D393-287-HLEGL-Headboard Left Leg
Patte de gauche
Pata izquierda    

x1 RDS-D393-287-HLEGR-Right Leg
Patte de droite
Pata derecha    

x2 RDS-D393-287-CLEG-Center Leg
Pattes centrales
Patas centrales

x2 RDS-D393-287-SLAT-Slat
Lattes
Listones  

x1 RDS-D393-287-HWKIT-Hardware kit 
Liste des pieces de quincaillerie
Lista del kit de materiales

x2 RDS-D393-287-CERAI-Center Rail
Pattes de supports
Patas de apoyo de listones

x2 RDS-D393-287-FLEG-Footboard Leg
Pattes de pied de lit
Patas del pie de cama

*x4 RDS-D393-287-SULEG-Support Leg
Pied
Pierna de soporte

* * *

* * *

Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com


